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/ﬁ Linearized knot diagam
_— NN NN

N 3 8§ 1 6 3 10 4 10 2 5 3
/\61\ 9
/ /
\# Solving Sequence
° 3.6 — — 7.10 — E—— E—— — —> —>> C1,C4,C
A knot diagranﬂ " ocs 4 e cr 8 €10 1 C2 2 Cs g Cy ) b

Ideals for irreducible component#ﬂ)f Xpar

It = (u' + 5u'® + 9u? + 2u® — 1507 — 18u® + u® + 13u® + 5u® — u® +4b — Tu + 1,
—uM =500 — 110° — 8u® + 9u” + 24u8 + 13u® — Tut — 13u® — 3u? + 2a + 5u + 5,
u? 4 4u' + 8t 4 5uf — 5u® — 150" — 9ub + 8ut + 2u® — 2u? — 4u — 1)

=0 +b0*+2b+1, a, u—1)

* 2 irreducible components of dim¢ = 0, with total 15 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I = (u'+5u'4- . -+4b+1, —u''—5u'®+...42a+5, u'?+4utt4- - —4u—1)

(i) Arc colorings

o ()

0
ag = U
1
a4— u2
—u
ar = 3
7 u’ +u
<5u11+gu10+~-~gug
ajg=\_1,11 _ 5,10 4 | 7,1
10 i qu ot gu— g
( ut —u?2 —2u+1
ag= \ _1,11 3,10\ . 3, 1
8 s qu et qut g
1 1
(iu11+45u10+---—4;u %
a1 = _ 1,11 _ 5,10 4 .. Ty 1
1 i vttt gqu—g
1 3 3 1
(—4u11—4u10+- +3u 41
ag= \ 101 48,10 1, 1
2 qu U e gu— g
—u?+1
a5: U/Q
<§u11+gu10+~~§u§
o= |\ _“3.11 "7 10 1, 3
9 e quw ottt gu— g
(ii) Obstruction class = —1

(iii) Cusp Shapes

=2uM + gulo + 16u° + 1—23u8 — 3—29u7 — 34u% — 9u® + 3?5“4 + 1943 + %uQ —12u — 12—9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 u? + 20+ — 20 +ud + 607 +4u® — 3P 66Ut + 3 —u—1
C2,C10 w4+ o+ Tu+1
c3,Cg u'? — 4uM + 8u' — 5u® — 5u® + 150" — 9ub + 8ut — 2u® — 2P +4u— 1
€4 u? + 140" 4+ 12u+ 1
c5, Co u? +utt -+ 36u+8
7 u'? —2uM ..~ 175u — 49




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C8 y =t Ty 1
€2, C10 y 218yt e~ Ty 1
€3, Cg y 2+ 14y 12y + 1
Ca Y2 428yt - — 136y + 1
cs, Co Y2 — 21yt + ... — 464y + 64
c 12 11
7 y o +54y T + - — 39739y + 2401




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.267707 4 0.884422]
a= 0.991606 + 0.9682291
b= 0.208639 — 1.0956301

3.72986 — 1.030191

—1.27943 + 1.441191

uw = —0.267707 — 0.8844221
0.991606 — 0.9682291
b= 0.208639 + 1.0956301

a =

3.72986 4 1.030191

—1.27943 — 1.441191

uw = —0.561933 + 0.6962851
a = —0.925264 — 0.8462501
b = —0.544421 + 1.2504601

2.66318 + 4.395331

—2.94428 — 5.223121

u = —0.561933 — 0.6962851
a = —0.925264 + 0.8462501
b = —0.544421 — 1.2504601

2.66318 — 4.395331

—2.94428 + 5.223121

1.11609
0.469158
b= —0.247448

u =

a =

—2.23241

0.00782210

0.703419 + 0.3545051
0.543453 + 0.8518241
—0.137910 — 0.4361561

—0.87372 — 1.325291

—6.28742 + 4.784451

0.703419 — 0.3545051
0.543453 — 0.8518241
—0.137910 4 0.436156.1

—0.87372 4 1.325291

—6.28742 — 4.784451

—1.18067 + 1.138031
—0.702429 — 1.1113107
—0.15451 + 1.864591

14.0447 + 7.79831

—3.16952 — 4.221021

—1.18067 — 1.138031
—0.702429 4 1.1113101
—0.15451 — 1.864591

14.0447 — 7.79831

—3.16952 + 4.221021

—1.10559 + 1.214881
0.744589 + 1.1181501
0.11602 — 1.805841

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

14.3370 + 0.80451

—2.71291 + 0.160861




Solutions to I} Vv—1(vol + +/—1CS) Cusp shape

u = —1.10559 — 1.214881
a = 0.744589 — 1.1181501 14.3370 — 0.80451 | —2.71291 — 0.160861
b= 0.11602 + 1.805841

u = —0.291129
a = —1.77307 —1.41716 —6.22070
b= —0.728189




IL. 12 = (b3 4+ b2 +2b+1,a, u—1
2

(i) Arc colorings

w= (o)

ag —

ayqg =

[
a9 =
as =

o )

(ii) Obstruction class =1

(iii) Cusp Shapes = —7b? — 5b — 17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u? —u? +1
€2 ud 4+ u? +2u+1
€3 (u—1)3
3

Cy4,Cg (u + 1)

Cs, C9 u3

€7, €10 ud —u? 4 2u—1
Cs wu?—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C8 v -yt 2y —1
3 2
€2, €7, C10 Yy +3y +2y—1
3
€3, C4, Co (y—1)
Cs, C9 y3




(vi) Complex Volumes and Cusp Shapes

Solutions to I3
u =

vV—1(vol +/—1CS) Cusp shape
1.00000
= 0 1.37919 + 2.828121 | —4.28809 — 2.599751
b= —0.215080 + 1.3071401
= 1.00000
= 0 1.37919 — 2.8281271 | —4.28809 + 2.599751
b= —0.215080 — 1.3071401
= 1.00000
= 0 —2.75839 —16.4240
b= —0.569840
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1 (u® —u® +1)
(' 4 2ut w0 — 20+ 4 607 + 4u — 3ud + 6u 4 3u® —u— 1)
€2 (u® +u? + 2u+ 1) (u? + 2u' + -+ Tu+ 1)
€3 (u—1)°
S(u'? = 4ut + 8ut — 5u® — 5u® + 1507 — 9ub + 8ut — 2u® — 2u? 4+ 4u — 1)
€4 (uw+ D3 (w? 4+ 140! + - + 120 + 1)
¢s, Co uwd(u'? 4wt 4 -+ 36u + 8)
C6 (u+1)°
S(u'? —dut 4 8ut® — 5u? — 5u® 4+ 150" — 9u® + Sut — 2u® — 2u® + du — 1)
7 (u® —u® 4 2u — 1)(u'? = 2u' + - — 175u — 49)
Ccg (U3 + U2 — 1)
(' 4 2utt = 20 + B+ 6u” + 4u® — 3u® + 6u 4+ 3u? —u— 1)
€10 (u® —u? 4+ 2u — 1) (u'? +2u + - F Tu+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, cs (P =+ 2y — (W2 =2+ — Ty +1)
¢2, 10 W +3y° +2y — )y + 18y + - — Ty +1)
c3, Co (y =)y + 149" + - — 12y + 1)
€4 ((y = 1)°)(y™ +28y" +--- =136y + 1)
cs, Co yP(y*? — 21yt + - — 464y + 64)
1 (% + 3y% + 2y — 1) (y*2 + 5dy! + - — 39739y + 2401)
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